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General Instructions:
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This question paper contains 35 questions.

Marks are indicated against each question.

Answers should be brief and to the point.

Answers to the questions carrying 3 marks may be from 50 to 75 words.
Answers to the questions carrying 4 marks may be about 150 words.
Answers to the questions carrying 6 marks may be about 200 words.
Attempt all parts of the questions together.

An internal choice is available in Question no. 24, 25, 26, 30, 32,33,34,35.

[Maximum Marks: 80]
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The Headquarter of WTO is situated in
(A) Singapore
(B) Geneva
(C) Delhi



(D) London
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DTH services are provided by

(A) Transport Companies

(B) Bank

(C) Cellular Companies

(D) None of the above
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Business between is called International Business.

(A) Two Cities
(B) Two Districts
(C) Two States
(D) Two Countries
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Public deposits are the deposits that are raised directly from:

(A) The Public
(B) The Directors
(C) The Auditors
(D) The Owners
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Krishan plants and Animal Itd. and Ram poultry farms Itd. are engaged in
breathing plants and animals for their use in further reproduction:

(A) Genetic Industry

(B) Extractive Industry

(C) Manufacturing Industry

(D) Construction Industry
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The facility of ‘Home Delivery’ of goods is generally provided by

(A) Wholesaler
(B) Retailer
(C) Agent

(D) Producer
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E-Business includes:

(A) E-Commerce

(B) Production

(C) Production Development



(D) All of the Above
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In case of Small scale enterprises, what can be the maximum limit of investment
in plant and machinery? There is a bank in India which supervises, control and
regulate the activities of all the commercial banks of the country. It also acts as a
Government Bank. It controls and co-ordinates the country’s currency and credit
policies. Name of the Bank is: (1)

(A) State Bank of India

(B) Central Bank of India

(C) Reserve Bank of India

(D) None of the above
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Deafness in ears due to noise of machines indicates ------------- pollution.

(A)Water Pollution
(B) Air Pollution
(C) Noise Pollution
(D)None of above
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is the example of ‘Manufacturer—Wholesaler—Retailer—Consumer’
(A) Retail Trade
(B) Wholesale Trade

(C) Indirect Trade
(D) Direct Trade
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Full form of G.S.T. is ---------------
(A) Good Sales Tax
(B) Goods & Service Tax
(C) Gross Sales Tax
(D) None of These
12.  WTEA &l hald Tt F gIATIT HEahTT o O] UHTET [efHee &7 FahdT 3797 Ioir

HHH | 26% T 25% TZEEET 81 T F9A1 § GSil o = a¥g o TG | €9 grav g
FLRTL T T (9T Ioit T2 (HI07 § TSTET ol & A0 F ST0d qrasie STHH Hhi

TEATHT: (1)
(T (FT &9
NG EURERGRE]
(@ (i STrw

(BT (TAH T =S Tl
The Central Government of India and the Govt. of Haryana
held the paid up capital of ABC Limited to the extent of
26% and 25% respectively. From this contribution of
capital 1in a company it 1is clear that Govt. exercises
control over the paid up capital of the company. Identify
the Public Enterprise establish 1in the name of ABC
Company:

(A) Government Company



(B) Statutory Corporation
(C) Departmental Undertakings
(D) None of above
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Choose one of the correct alternatives given below:
Assertion (A): The assumption of social responsibility by business provides
justification for its existence and growth.
Reason (R): The prosperity and growth of business is possible only through
continuous service to society.
(A) Both Assertion (A) and Reason(R) are true and Reason(R) is the correct
explanation of Assertion (A).
(B) Both Assertion (A) and Reason(R) are true and Reason(R) is not the correct
explanation of Assertion (A).
(C) Assertion (A) is true but Reason(R) is false.
(D) Assertion (A) and Reason(R) both are false.
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Choose the correct option from the options given below:
Assertion (A): Not all countries can produce the goods they need at a good and
cheap price.
Reason (R): There is unequal distribution of natural resources among all
countries.
(A) Both Assertion (A) and Reason(R) are true and Reason(R) is the correct
explanation of Assertion (A).
(B) Both Assertion (A) and Reason(R) are true and Reason(R) is not the correct
explanation of Assertion (A).
(C) Assertion (A) is true but Reason(R) is false.
(D) Assertion (A) and Reason(R) both are false.
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The Investment element lies in which Insurance?
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Write full form of C.I.F.
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Give one example of economic activity.
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If the investment on the Equipment of a service Enterprise is upto
crore rupees and annual tureover is upto Rs. Five Crore, it will be known as
Micro unit. (One crore/Ten Crore)
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The detail of the purchased goods from the seller on credit is called
(Invoice/Cash Memo)
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Doing business of fashion goods involves risk. (Less/more)
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Mention any three responsibilities of business towards employees.
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Explain briefly any three electronic banking Services.
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edarT elaselohW yb naem uoy od tahW? ti fo serutaef owt yna nilapxE.
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Discuss statutory characteristics of partnership.
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State the features of Sole Proprietorship.
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What do you mean by Departmental Undertaking? Elaborate its features.
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Define MNC's (Multinational Corporation).State its features.
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Explain Statement in lieu of Prospectus.
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Define Prospectus. What are the objectives of issuing Prospectus?
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What do you mean by E-Business? Differentiate between Traditional businesses

and E- business.
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Describe various social objectives of a business.
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Describe any two principles of Insurance.
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Explain three benefits of Internet.
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Give difference between Domestic Trade & Foreign Trade.

SREN
OR

Torsa SATITE T3 | F797 SATSTATT 82 THh &l Ie9T1 T AU |

What do you mean by WTO? Discuss its any two objectives.
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What do you understand by Public Deposits? Expalin its any two advantages.
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What is mean by Small Scale Enterprise? Describe the role of small business in
rural India?
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What is meant by Enterprenureship? Expalin any two characterstics of
Entrepreneureship.
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Define and distinguish between shares and debentures.
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Elaborate the different types of Preference Shares.
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What is Memorandum of Association? Elaborate its subject matter in detail.
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Give any six differences between Private Company and Public Company.
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What do you mean by company? Explain its any four features in detail.
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